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The figu
for the questions

answer of the following :

1. Choos€ the correct
1)(8:8

ch of the following is not a subject

(a) Whi
oeconomics?

matter of micr
e of a commodity

(i) Pric

(i) Price of a factor

(iii) Change in the price level of an
economy '

(iv) Production behaviour of a firm
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elasticity of demand of 4 commodity is
(i) equal to one .

(i) equal to zero
(i) greater than one

(i) less than one

(1) Utility can be €xpressed in numper

(ii) Utility derived from different units
of consumption can be Summed

(tii) Utility derived
combinationg

up

from different

of commodities is
ordered as per rank

() It is free of the

Judgement

() income
(ii) utility
(i) the Price of gne good

(iv) the Price of a]] goods
as constant.
4P—7000/5 ( Continued )

o1
(3)

(e) One feature of Giffen goozi is
(i) negative income effect
' '(ii) positive income effect
(iii) zero income effect

(iv) positive substitution effect
i,

- . -
rua

i hS
(]

- n
uants that are downward-sloping
(g) Isto:ight lines exhibit . i

: 'r increasing me.u'gmal- rate
i ?:c}mical substitution

in of
decreasing marginal rate
o ] substitution

()

ica
tECh::l;nstant fna.r.ginal rate of
e a';lechnical substitution .al
arginal rate of tecthmcbe
e aﬁbsl,?itution that canno
fietermim?d
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(4)

Im enjoying €Conomies of scale over
Some range of output will have g

@) rising long-run average cost curve

(ii) falling long-run average cost curve
(i) constant

long-run average cost
Curve '

(v) flatter U-shaped long-

n average
cost curve

-+ (within 150 words each) .

(a) Microeconomic models

(b) Consumer equilibri
commodity cage

(¢) Price effect

um- in g single-

(d) Production function

(e) Interna] €conomies

Answer the following questions (withjn 500
Words each) :

3. (a) Explain, with an €Xample, the method of
microdyna.mic analysis.

Mention it
advantages and

limitations. 7+4=11

14p—7 000/5 ( Continued )

(5)

Or

. ts :
(b) Explain the following concep 2+3+3+3=11

d
L

. . =l e ge d
1)

iciti and
(iii) Income elasticities of dem
il

a.l'ld

5
me

1 roach of
count on the cardinal app 3+8=11
ac

4. (a)

suremerl
mes Or
R ce
jons of indifferen
: assumption lp of
b} B SR e e st
: c
Cur'vf?rence curve, how a . 4+7=11
: e ;
lr'faluins equilibrium.
a

an
d? Show how

. mal goo ived
What 18 n;;mand curve can By der; in
i,ndiVidualhelP of indifference curv
with the

2+9=11
f a normal good.
? Or f
bstitution effect in case 0

case

: 11
(b) Explain the su

i d Giffen goods.
inferior an
normal’ L
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(b)

(b)

14P—7000/5

(6)

Give an idea on the graphical tools that

- can be used for the analysis of

production function for a1 single
product.

Or

Distinguish between return to factor
and return to scale in the context of
production function. Explain; with the
help of isoquants, the laws of return to

scale. 4+8=

Distinguish between variable cost and

fixed cost. Explain why the long-run

average cost curve is called as ‘envelope

curve’. it 7=
Or

Distinguish between short run and long

run. Why is a long-run average cost

curve generally flatter than the

short-run average cost curve? 3+8=
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